> read (‘bsp_VII_3.mws‘);

a:= —3
b:=3
c:= -3
d:=3

f=10 (22 +15 +1/52) e V"

Graph von f

Schnitt fuer y=—-1/2




Schnitt fuer x=—-1
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“Diepartiellen Ableitungener sterundzweiter Ordnungvon f”
fr = —2e7% Y (<102 — 1+ 1023 + 10 2¢° + 222)
fy = —2ye ™Y (2543 + 1022 + 109 + 22)
frz = fe=a" =y (—25962 —324+102* +102%y° +22%3 4+ 5 — 5y5)
foy == dye V" (=102 — 1+ 102 + 102y° + 222 — 25¢3)
fyr = dye=*"V (-10z — 14 102® + 102y® + 22? — 25 y3z)
fyy = de =V (50y® =52 = 559° — x + 10y%2? + 10y" + 2y%z)



